[(BEXRA)ZERD#ER

= H28 H29 H30 ROT RO2 R3

LEE 7.0 75 8.2 7.8 7.3 6.6
LET 6.2 7.0 7.9 75 6.9 6.7
&t 49 44 40 35 3.2 2.9
MR 6.4 5.8 5.1 5.1 48 5.0
=Rmh 5.1 9.5 11.8

BETh 9.9 12.4 12.2 12.0 10.4 9.3
falu 4.2 3.9 5.8 6.5 5.6 49
laakii] 9.2 9.3 9.2 8.0 7.0
=% diil 10.1 12.9 12.3 11.2 9.7 8.3
EIRH 20.5 18.0 16.6 15.5 13.9 12.6
R 6.5 5.9 6.2 6.2 5.6 5.9
RBILE™ 9.0 10.9 11.1 11.3 10.6 9.7
HHMm™ 8.2 8.8 8.1 6.9 6.0 5.5
-3 il 18.0 18.1 16.9 15.4 135 11.0
JTHE™ 8.0 8.8 15 6.0 5.1 49
i Fh BT 75 5.9 5.1 49 6.0 5.8
pgali] 8.7 95 9.6 9.1 8.1 7.1
A EFHT 8.8 8.2 7.0 2.8 40
IR ET 9.2 7.7 6.7 5.6 4.9 6.0
T=AHHET 14.2 13.7 12.7 11.4
db 5 S ET 13.7 17.4 16.0 15.1 14.1 12.0
Kig_+ BT 9.9 8.9 8.8 9.7 11.3 12.8
H R HT 17.9 20.5 22.5 17.6 23.2 16.0
A= RET 16.9 16.1 15.4 13.6 11.6 9.9

XS FEX407% ~695% (B M AIL5055 ~69 FETEMNAIL205E ~695%)

KERBEE, BENTHD-OREHTEE
MERRRDRZEL, HETLHHLRRT INARZDADZEDS
BFENTLGENED, RRERDZZRERITLOTEHYFEEA,

(%)

LER

30 -

20 -

10 | 7.0 7.5 8.2 7.8 7.3 66
- = i —il

0 T T T T T 1
H28 H29 H30 RO1 RO2 R3

e INZ ]

30 -

20 -

10 1 6o 7.0 7.9 7.5 6.9 6.7

0 T T T T T 1
H28 H29 H30 RO1 RO2 R3

e MR™

30 -

20 -

10 -
6.4 5.8 5.1 5.1 48 5.0

O T T T T T 1
H28 H29 H30 RO1 RO2 R3

ETHY, BLDOLEORBENTI ARV IETON AR

(%)

30 -
20 -
10 -
. ———————
0 T T T T T
H28 H29 H30 RO1 RO2 R3
o =R
30 -
20 -
11.8
9.5 *
10 - 51/ XEHTEE XEHTRE
XEHAEE
0 T T T T T
H28 H29 H30 RO1 RO2 R3




(%)

Bt

30 -
20 -
12.4 12.2 12.0
9.9 -— 104 9.3
10 - / \
0 T T T
H28 H29 H30 RO1 RO2 R3
o e
0
30 -
20 -
. = 9.2 9.3 9.2 8.0
10 - | XEHAEE : 7.0
C= —— = .
0 T T T
H28 H29 H30 RO1 R0O2 R3
e EIR™H
30 -
20.5
20 -
10 -
0 T T T
H28 H29 H30 RO1 R0O2 R3
oo RILB™
30 -
20 A
9.0 10.9 11.1 11.3 10.6 9.7
10 - ‘/ —— == g —
0 T T T
H28 H29 H30 RO1 RO2 R3
e REmHET
30 -
18.0 18.1
20 A 16.9
15.4
13.5
11.0
10 -
0 T T T
H28 H29 H30 RO1 RO2 R3

o faluh
30 -
20 -
10 1 i 5.8 6.5 5.6 1.9
. 3.9 . I —
0 T T T T T
H28 H29 H30 RO1 RO2 R3
o =Rt
—_—
30 -
20 -
12.9 12.3 112
10.1 -
0—_——”"_*’ — > 8.3
10 - ‘——"““-0-.._.-0
0 T T T T T
H28 H29 H30 RO1 RO2 R3
Xrrts
30 -
20 -
10 1 65 5.9 6.2 6.2 5.6 5.9
Sr——— O ¢ —
0 T T T T T
H28 H29 H30 RO1 RO2 R3
o =k
30 -
20 -
8.2 8.8 8.1
Pl e——— %7 60 5.5
————0
0 T T T T T
H28 H29 H30 RO1 RO2 R3
(%)
ITHE™
30 -
20 -
10 - 80 8.8 7.5 -
— ——, 4.9
+ 4
0 T T T T T

H28 H29 H30 RO1 RO2 R3




(%)

73 E BT

30 -~
20 A
8.7 9.5 9.6 9.1 8.1
0 T T T T
H28 H29 H30 RO1 RO2 R3
* SRET
30 -~
20 A
9.2
10 - ‘\7‘7\6‘L >.6 4.9 6.0
—_—— —— B
0 T T T T
H28 H29 H30 RO1 R0O2 R3
(%)
dt s B HT
30 -~
20 1 17.4 16.0 151
13.7 14.1
= ﬂ\lio
10 -
0 T T T T
H28 H29 H30 RO1 RO2 R3
ftt AT
30 -~
22.5 23.2
20 A
10 -
0 T T T T

H28 H29 H30 RO1 RO2

R3

REehiT
0
30 -
20 A
10 - 7.5
‘\i: 5.1 4.9 6.0 5.8
0 T T T T T
H28 H29 H30 RO1 RO2 R3
. FREFET
30 -
20 -
8.8 8.2
10 1 Dxmmree], 7.0
28 4.0
0 T T T T T
H28 H29 H30 RO1 RO2 R3
(%) -+
REAXHHET
30 -
20 -
14.2 13.7 12.7
>~ o ) 11.4
10 KR T
0 T T T T T
H28 H29 H30 RO1 RO2 R3
(%)
RN _E B ET
30
20 -
12.8
9.9 11.3
: 8.9 8.8 V
10 - N ‘
0 T T T T T
H28 H29 H30 RO1 RO2 R3
(%) =
A ERE
30
20 A 16.9 16.1 154
13.6
11.6
9.9
10 -
0 T T T T T
H28 H29 H30 RO1 R0O2 R3




